
Time: 1 Hour Paper Math 7 (T-6) Total Marks: 25

6th Month, 3rd Week, 6th Day Revision Test (3rd Week)

 Answer the following questions:  
Q.1. Complete the table. (1x10=10) 

Sr. No. n (A) n (S) P (A) P (A')

(i) 6 18

(ii)  2 
5

(iii)  7 
19

(iv)  1 
6

Q.2. Zain rolled a fair dice. What will be the probability of getting number

divisible by 3? Also find the probability of number not divisible by 3.

(1x5=5)

 3  3 
Q.3. A box has 15 pencils, 8 sharpners, 12 erasers and 2 rulers. Find the

probability of choosing.  (2.5x2=5)

 2  12  8






 15 
(i) a pencil  (ii) not a erasers 

Q.4. A letter is chosen at random from the word "PROBABILITY". Find

the probability of the following:     (1x5=5)

 PROBABILITY 
(i) P(B) (ii) P(a letter) (iii) P(G)

(iv) P(consonant) (v) P(B')
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